
[image: image1.jpg]5. You and your partner should now flip your coins into the well at the same time. Note: =i
The coins should be flipped only once for each trait.

6. Continue to flip the coins for each trait listed in the table in Figure 1. After each flip,
record the trait of your offspring by placing a check in the appropriate box in the table.
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. Using the recorded traits, draw the facial features for your offspring in the space
provided in Observations
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Figure 1 (continued)
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3. Beover think vou would have 3o fetic traits similar o vour drandpar

answer

4. There is a small village in a mountain vallev in Spain where a large aumber of people are
polvdactyl (have more than five finders or toes) Why does this trait tend to be passed on

from dgeneration to generation”

King divoreed s queen because she produ e ey

1es. explam why this was an incorrect oy

**Birth Notice**

= (circle or fill in the appropriate information for either F1 or F2 child)

This is to announce the birth of - a delightful little
boy/girl. The proud parents are and

The baby has hair and will grow to be quite short/average/tall.
Naturally, he/she can/cannot roll his/her tongue. This brown/green/blue eyed,
color blind/color-sighted baby with his/her type blood will be a
welcome addition to the family. With/without his/her widow's peak,
fine/medium/heavy bone structure and dainty/clodhopper feet, there is no doubt
that this cute, dimpled little bundle o'joy is boriid for fame and fortune- To be
sure, he/she resembles more titan





[image: image5.jpg]Analysis and Conclusions

1. What percent chance did vou and vour partner have of “producing” a male offspring? A 1
B 3 3 + pring? \ e,

blain vour answeer

offspring’

2. Would vou expect the other pairs of students in vour class to have an ofispring similar to

vours? Explain vour answer
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Critical Thinking and Applicatio&

1. Did vou think that anyonesin vour class has all the same genetic traits that you have? Expl

your answer.
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